Jourd o Arhu Agi . S 2007 35(12) 3457 - 3458 3516

1,2 1 2
(1. , 33300 ;2. 330031)
Fa2 3 | A 0517 - 6611(2007) 12 - 03457 - 02
1
d
bl (
)
3 ( 12
)
» L, (1)
; o 1.0]
<A(0)> \ %
"‘\\- <B,(t)> v
a// \ <L (0)> \\ /\
<Li(B)> <Bi1(H)> <L, (0> <L, (8)>
<L, (0>
2 i ]
Lo 1 L(9
11.1
L,(t) t TR(Y) =L L(Y) - A(t) + B(1]
R(1) ¢ 11.2 | )
L Ly( 1) t A1) = ax Li(t) x Ly
» R( 1) t 113 By(t) =
) bx[d- Li(t) - Lt) - B(1)], b [L
(1) + La(1)] : a [L(t) +L(t)]
11
( 1 Ry t) , t dly(t)/dt ={ Ly(t) - ax Ly(t)
Ly( 1) , t x Ly(t) - bx[d- Ly(t)- L(t)]}/12
A1) 12
B, Ry(t) , t
(1) ,a LA t) , t
( A t)
(
) ax Ly(t) x
L( t) ) )
Ba( 1)
(70361002)
(1967- ),
d | 12
2007- 02-26



3458 2007

, , 0.02/ , 11 , 32 ), 3
: , 400
a=0.02/ %, ulD=10, L:(=90
= > LD | ¥ oa=00/%, L= 10, Ld=90
R () 300
: * <
<4 (t) > <81 (1> & 200
// \ (® )
<L (t)> <Bu(1)> 100
T <> <, 1> b L <Liy> 4
0 1
2 LAt 40
3
121
PRa(t) ={[(La(t) + A1) - By(t)] x K/12 2.2
122
PA(L) =ax L(t) x Ly(t) ’ ’
1.2.3 L By( 1) ( 0.0/ T
=cx Lft) c Lyt , ) 0.01/ : 13
kK [Lt) + LA D] , a [L(t) + L(1)] ) : :
( 0.0V , 7 ,
24 0.0/ , 13
dly(t)/dt =[ L(t) + ax Ly(t) x L, , 181 ), 4
(1) - cx Ly(t)]/12 200r a=0.01/ 4, L(D=10, L()= 90
100 oo
150
10 L(t =90 L, (t) =10 2
d=1000 = 100
<
=0.0/ (a,=0.02/ ) 20
1 :
0 40
1
(a) (b) 4 ,
Li(t) + Lyt
(0 + LA Vi 1/ (K
10 0.10 0.0083 1.2 23
20 0.15 0.0067 1.1 '
30 025 0.0042 1.0
40 0.30 0.0025 -0.5
50 0.40 0.0008 0 ) )
(
\ersi m : 300 400 ,
% , ), 0 02 , 15 308
: 0.0V 27 303
2 )
3 ra=0.01/7 ,Ly(t)=10,L4t) =90; ( 0.0Y , 40
a=0.02/ ,L(t)=10,Ly(t) =90;a=0.02/ ,Ly(t) =5, . 360 0.0 ,
L(t) =90 22 , 36
21 366 ), 5
, , a=0.02 ,Ll(t) :5,L2
( 0.02/ ., n , (t) =90 ( a=0.0/ ,Ly(t) =10,Ly(1)
0.0U/ , 19 ), =90 ) :
: , ( 0.0V

, 17 . 28 ( 3516 )



( 3458 )

400 2=0.00/ %, L(9=10, L(H= 90
300
<
= 200
—‘,\'ﬂx
2
100
0 10
5 b}
231 a=0.02/ ,L(t)=5,L,(t) =9 |,
13
, 392 a
=0.0/ ,L(t) =10, Ly(t) =90 , 17
203 a=0.02/ ,Ly(t) =
5 , L2( t) =90 ,
a=0.01/ |,
Ly(t) =10, Ly( t) =90 , 6
400
a=0.02/ %, L(D=75, L(D=90
¥
w0l a-ﬂéio' 01’//% L= 10, L= 190
<
w200 .
R “
<
100
0 1
8 16 24 3 40
rla) i A
6 9 y
232
Lo( ©) , a=0.02/ ,L(t) =5,Ly 1)

=90 , 29 366

. a=0.02/ ,Ly(t) =10, Ly(t) =90
, a=0.01/ ,Ly(t) =10,Ly(t) =90 ,
, 36 366
, 7
2.3.3 L,( t)
, a=0.02/ ,Ly(t) =5,Ly(t) =90

9 , 149 | 22
; a=0.01/ ,L
(t) =10,L4t) =90 ,13 , 181
22 , 8
400
300
<
3 200
100
0
-
200r
150
<
3 100¢
50
0
8 ) )
3
[1] : : — [M.
2002 .
[2] : [M. : 1989.
[3] , , . [J . ,
2005(1) :28- 31.
[4] , : [J .
2006(3) 11- 13.
[5] . [J . ,2000(1) 28 -
30.
[6] , . [J] . A00(19) 2
- 7.



